AP Calculus BC Mr. Shubleka Quiz: 21

Present neatly on separate paper. Justify for full credit. No Calculators.

Name _sHUBLEKA JKEY Score 15 minutes / A x 4

1) Use the sketching guidelines we learned in class to discuss the

function: (20 points)
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2) Sketch a function that satisfies all the given conditions: (5 points)
A

f(0) =0, fis continuous and even,
fl)=2xif0<x<1, fl(0=-lifl<x<3,
fllx)=1ifx>3

A
3) Find the limit or explain why it doesn't exist. [5 points]
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AP Calculus BC Mr. Shubleka Quiz: 21

Present neatly on separate paper. Justify for full credit. No Calculators.

Name __KE+/shJGL gt - Score

15 minutes / Fx 4

1) Use the sketching guidelines we learned in class to discuss the

i 2
function: (20 points) r: Co,0) gy X (x+16)/(x<8)
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Stovt: y= %-8
2) Sketch a function that satisfies all the given conditions: (5 points)
f0} =0, f(-2)=71)=f19 =0,
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F(x) <0on (=~ —~2)},{1,6),and (9, ), R ) W
f(x) >00on(-2,1)and (6,9), 3 a "

F"(x) > 0 on (~=,0) and (12, ),
F'(x) < 0on(0,6) and (6, 12)
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